fZEEHE / Diaphragm Valves
VDV33UB %%l

VIGOUR

Wir bieten Losungen fir lhre Ideen!
We offer solutions regarding your ideas!

| =Riss

- ERTHSAISEREMRETESE. ZNSESHSHER

- EEEREN, BENENESEE,
- AR, BRFIBFARIAS

- RERHESRE

« FEIREEREL S PCTFE, Vespel® / PFA ik

SRR EE

N==d &
| 8/ EHSR
SN I L L o e [——
-1oTc 205bar T 7‘ Mﬂ } ‘r
| | \ \ [
200 ==r =77~ A T T T T I r
— \ \ \ \ \
E 150,,7‘7777777‘,77777777777‘ 777777 [ Lfi*
3 [ [ \ [ [
= \ \ \ \ \
v 41 4l _____ . L——-
R 10 | | | | |
e} | | | | | .
50— — L S P B [ L——- 1728
| | \ \ [
\ \ \ \ \
| | | | | =
00 20 40 60 80 100
BE (°C)

| ER&%

BRATIERES:
SENTIEES:
BRATIERE.
TEGEE:
(%5

B

[

BERy:

ES TR

AEB R
HNERRER:
MESE

=58

B B BT BE Tk
) ) P& ) 8

3000 psig (206 bar)
58~87psig (4-6bar)

-10°F ~ 150°F (-23°C ~ 65°C)
10uin. Ra

FEITWEE

Elgiloy®

PCTFE

AL

1x10° mbar I/s He

1x10° mbar I/s He

1/4" Cv=0.1 3/8" 1/2" Cv=0.5
£ 0.27kg




VIGOUR’ Diaphragm Valves / [BiEHE
We e soutons regng ot on VDV33UB ggu

T ( i ‘ A LI
NS N
= OPEN 0° I OPEN 0
2-M5X0.8 | 2-M5X08
DP6 M- ‘ ’ DP 5 -
Tl (==
! :
1/4 FaBY (VFS JMEL) 1/4 FaBY (VFS PIIELY)
A LI A I
} d @ Y ‘ _ 7 @ Y
‘ Wg)) ‘ NP
NS~ N
* 2-M5x0.8 -, OPEN 0° B 2M5x0.8~ OPEN 0
- — DP6 - m@é@m ﬂ DP6 o !
et ¥ i R
B e R H e e
O -=4!=\. ‘ y £ \=!>,‘,-4 . ‘ y
L
. £
1/2 FahBL (VFS 8L 3/8, 1/2 FahEY (VFS JMER)

S
|
|
|
|

A
l
\
|
I
| |
\ DP6 }} ] LL ‘ E-Fr’wssxo.gﬁ . i
=, | SHD . D

P N | m@éwg_ | B {}
t =S .
B
L
1/4 SEhBY (VFS HJMBL EiF) 1/4 SENEY (VFS ML HEFT)
A

A
|
1
|
S S
i
y ‘ DP6
| “ %

]
IR O e [ —
" ﬁ@ IEoEii=
E I
E




fZi&HE / Diaphragm Valves

VDV33UB %%

VIGOUR

Wir bieten Lésungen fiir Ihre Ideen!
We offer solutions regarding your ideas!

=4 I

A
‘
|
i
oo

i

S8 SE

1/2 SENEL (VFS pRigee i)

2-M5X0.8

DP6

EEz

FanE
U ALARY R (mm)

(mm) ™A B c|E FI L [H
1/4" VFS §MBLY 44 | 54| 28 [11.1] 18 [ 28| 586 | 74
1/4" VIFS PIBL 44 | ©54 | 28 [11.1| 18 | 28| 716 | 74
3/8" VFS JMELL 7 ®54 | 47.1[18.2 | 27 | 38| 122.2| 86
1/2" VFS JMELL 7 ®54 | 471182 | 27 | 38 | 123.2] 86
1/2" VFS poigie 7 54 | 471182 | 27 | 38 | 123.2| 86

| T2

4

DP6

E

3/8,1/2 SEhEY (VFS SMRN FiF)

SHE (BHFEER)

2-M5X0.8

£H

proimpuz:3 Xans | FLARY R (mm)

(mm) A TB[ C E]F]LH
1/4" VFS 51245 N.C 44 | ®56.5] 28 | 111 | M5x0.8 | 18 | 28 | 586 |90.5
1/4" VFS 588 N.O 44 | ®58 [ 28 [ 11.1 | M5x0.8 | 18 | 28 | 586134
1/4" VFS Rigy N.C 44 | ®56.5] 28 | 11.1 | M5x0.8 | 18 | 28 | 71.6 | 90.5
1/4" VFS iz N.O 44 | 58 | 28 [ 11.1 | M5x0.8 | 18 | 28 | 71.6 | 134
3/8" VFS JMBL N.C 7 | 565|471 182 | M5x0.8 | 27 | 38 |122.2] 105
1/2" VFS §hEsy N.C 7 |®565[47.1] 182 | M5x0.8 | 27 | 38 |123.2] 105
1/2" VFS RiZ N.C 7 |@os6547.1] 182 | M5x0.8 | 27 | 38 [123.2] 105

174" ,3/8" ,1/2" BHRINHESE, HeEEAUFERIT .

VDV33UBS - M - A - MV4 - MV4 - PA

R

S: 316L
SLV: 316L ZRiakE

KA
M: FznEd
PO: S8 EFF *
PC: S8 B4
* SHEEFEIERE R 91/4 thch

SEETT
BEMIZRP52: SEETHE,

oo

B L B e Tk
& & R @ &

]

L RIEEIZEIR
Z5E: PCTFE (o)

VS: Vespel®
PA: PFA

i %

MV4: 1/4" VFS SMBLL
FV4: 1/4" VFS pi8LY
TW4: 1/4" \Sisse

MV6: 1/2" VFS sM&ELz 3/8" O.D.
O.D.

FV6: 1/2" VFS PItRL 3/8"

TW6: 3/8" {2EE
MV8: 1/2" VFS JMZL
FV8: 1/2" VFS Pigiy
TW8: 1/2" 12iEE

* B, EEEEE.




VIGOUR

Wir bieten Losungen fir lhre Ideen!
We offer solutions regarding your ideas!

Diaphragm Valves / g1
SEHEE

| BO0==E:

*Pz
;Pj B *5; *P1: HSESH
*Pa: HRIESD
+Pz
| FisOREsKRE
P,
- A, .
*P * h 2
i« «[ Ve e P& |+
“hRAE B R B" # *é%ﬂ%%uu
| = RORESEE
P4 P, P, P4 P, P, P, P,
] - [3] [1]« <[3] (1]« -»>[3] (1]« <[3]
+ P2 + P * P, * P,
B D" B BB FroB
P4 P> P4 P
] -»>[3] [1]-» <[3]
4P v P
G B HY B
I @Hﬁ'ﬁuf)lbiil—z\ft%g
[4]
40, 4p,
P P, P4 Py
[1]> - [3] [1]> <[3]
v P: VP
(L] ]

@

B
8

&

BT BE T
PR &) It

T
0



